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Mathematics (Objective) Paper (1)
‘ime Allowed:- 30 minuteg PAPER CODE 2191 Maximum Marks:- 20

lote:- You have four choices for each ohjective type question as A, B, C and D. The choice which you think js correct; fil]
at circle in front of that question humber., Use marker or pen to fill the circles. Cutting or filling two or more circles will
wult in zero mark in that question, Write PAPER CODE, which is printed on this question paper, an the both sides of the
nswer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of ink Remover or

hite carrecting fluid is not allowed. Q.1
1) The multiplicative inverse of 1-2; is
(A) 1+2i (B) -1+2i (C) E=20 D) 14 2i

5 : S 5 3
2) The number of identity elements in a group is : _
(A) Finite (B) 2 ©) 3 ()

%) Thissndbag 11 T
)i matri> 10 ol ye
{A) Null matrix (B) Identity matrix (C) Diagonal matrix (D) %mrix

|
4) If [f ;{ =0. Then value of K is

(A) £16 (B) 0 (C) +4 ®) =8
3) The product of roots of the equation 3x +4x =0 is
(A) -4 (B) 4 o (D) 4
3 _ 3

6) When P(x)=x'+4x2 - 2545 is divided by (x -1), remainder is

{A) 10 (B) -10 (C) 8 (D) -8
It (2x+l)=A(.t+l)+B(x+2), then 4=
(A) 3 (B) 4 ©)s . D) 1
8} The harmonic mean between 3 and 7 is
3 21
e — : )]
{A) 2 B) - ©s (D) 21
9) If A,G,H have their usual meaning, (G =
(A)H BYA | (C) axH (D) %
10y "P =
{(A)n (Byo (1 (D) n!
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—(2)-

(A) 24 (B) 8 (©) 20

12) The number of terms in the expension of (1+ x}K is

(A)3 (B) 4 (C) Infinite
13) The sum of coefficients in the expension of (1+x)° is

(A) 8 (B) 16 _ (C) 32
14) cot’ @ - cosec’d =

(A) 2 (B) -1 (1
15) um[?’l’- ‘o)

2 ¥
(A) cotd (B) tan @ (C) -cot 6

16) Domain of y = sinx is

E

2

(A) IR (B) [1,1] © P z

17)In any triangle ABC, with usual notation b* + ¢ - 2bc cosa =

(A} A (B) 6 (C) &*
(A) sin% (B) sin% (C) cos ‘f/g '

19) tan (tan"'(1)) =
(A) 1 ®) 5 © %
20) Solution of cot = % in [1Ird quadrant is

4
2!

)2 ® = ©
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(D) 18

(D) Finite

(D) 64

(D)o

(D) -tang

@ Q

(D) 1

(D) cos % .

(D) 0

(D) =
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Time Allowed: 2.30 hours {lnter Part - I} Maximum Marks: 80
be 7T 10] | (R E———— I
Z: Answer briefly any Eight parts from the followings:- 8 x2=1¢6
@) Check the closure property w.r.t “x” on {-1,1} (ii) Define modulus of a complex number.
4ii)  Find multiplicative inverse of -3 -5i (iv) Write down power set of {a,{b,c}}
«v)  Construct truth table for an implication. {vi) Define Semigroup.
" 2 0 1 4 -2 3 — o i
(vii) Find x& y if Blagl© & X1 Gl B A i ® |
1y 3 70 2 <171 6 1 6 3
fix) If A is a non-singular matrix, then show that (4™)" = 4
(X}  Solve 2x* +12x-110=0
(xi) If @ iscube root of unity and &’ =1, then evaluate @™ + ™ +1
(xii) Discuss the nature of roots of 25x" —30x+9=0
3. Answer briefly any Eight parts from the followings;- 8 x2=16
(i) Define Improper rational fraction and give one example.
fii) Resolve 2] l into partial fractions.
x —
. . L2 et -x-3 . .
fiii)  Convert an improper fraction —————————— into mixed {orm.
(2x+D(x-1)
fiv)  Sumthe series L11+1.41+1.71+ ... +a,
W) Define a geometric sequence and give an example.
wi}  Insert one real geometric mean between —2i and 8i
tvii)  Find the sum of infinite geometric series 4+2/2 «2++/2 41+ ...
viii)  If i " 2k1—~1 , ﬁ are in harmonic sequence, find k -
ix)  Inhow many ways the necklaces from 6 beads of different colours can be made.
x) If L4244+ ...+2" =27 ] then check the statement for n =2 and n = 3 is either true or false.
xi)  Evaluate (9.9)° using binomial theorem upto two decimal places,
xii) Expand {1+ x)” upto 4 terms.
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@)
(i)
(iii)
(iv)
)

(vii)

(iv)
(x)

{xii)

(xiif)

Note: Aftempt any three questions.

5.

(a)
(b)

(a)

(®)
(2)
.(b)

()
(b)

(@)

w2 ') e
Answer briefly any Nine parts from the followings:- 9 %x2=18

Define "right angled triangie”.

What is the length of the arc intercepted on a circle of radius 14 cms by the arns of a central angle of 45°7

Find the values of sin@ and cos@ when tand = — :l- and the terminal arm of the angle is in quad ii.
Prove that:cos 306° +cos 2347 + cos162° + cas18” = 0 without using calculator

Prove that : sin(45” + &)= :jl_z—{sina +cosa) (vi) Prove the identity H = tan-q—;"—?- tan a—2 2
Find the period of cos % (viii) State “The Law of Sincs’.

Find the area of the triangle ABC when its sides arc a= 18,b=24,¢=30
Show that sin™ (~-x) = ~sin™ x (xi) Find the solutions of the equation cot0=:}? , 0 liesin [0, 2]

Solve the equation sec’ @ =% ,0¢e[0, 2x)

When the angle between the ground and the sun is 30°, flag pole casts a shadow of 40 m long. Find
the height of the top of the flag. :
Section ------=~----= 11 ;
(10 x 3=30)

Show that the set § 1, @, @* |, When @® =1, is an abelian group w.r.t. ordinary multi Jication.
, group P

If 3n% +2n+1 be nth term of the series, find the sum to 2n terms. ; |
x 1 11

x 1
11
1 1 1 x

Find values of n and r when.""'C, , :"C,:""'C,,, =3:6:11 i

Show that l : =(x+Nx-1’

2
Solve the equation (x —1) +3[x+ }-]:0
x

X

i

10
Find the coefficient of x* in the expenssion of (xz 2—J~]
X
Prove the identity e ot — L— =2sec’ 8
14sinf 1-sinf

If a,f,7 are the angles of the triangle ABC, show that

cot%—t—oot %+cot %=cot % cot % cot %

Prove that r = & with usual notation  (b) Show that tan (sin”' x)=— A
s

1,1'1—.74:1
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